Unit 2 Review of slope and slope intercept form. Name: Hee

1. Use two different strategies to find the slope of the hne formed from the
ordered pairs ( 2 f_l-%and S( 1)
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Find the slope of the line formed from the ordered pairs below.
% g( 9) and (5, 3) 3. (5,1) and (6, 5) Ll‘/]
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4. (13, 0) and (-2, 5) 5. (-10, 6) and (-5, 8)
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G: (3 8) and (5, 12) 7. (-6,4) and (9, 4)
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Find the sqg[\)é and y-intercept of the lines graphed below. Then, write the equation of
the line in slope-intercept form. ( = MO\ b\
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slope: e slope: (9 - 5
y-intercept: S_ y-intercept: E&
equatlon in slope intercept form: equation in slope-intercept form:
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10. Graph the line }) =
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11. Graph the line y= - éx + 4
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11. Graph the line
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12. Graph the line
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15. Graph the line)/ = — Z_X'
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16. Graph the line } =X +4
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